GCSE Science Homework Pack 1 Homework 2

Levels of organisation

1 Rearrange the following items in order of size, starting with the smallest. Note that the
drawings are not to scale:

Mitochondrion Human sperm cell
Cheek
cell

Human egg cell
.ég
Nucleus Liver

molecule

2 Which atom or atoms:
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3 Underline the substances which are organic:

proteins  vitamins  calcium oxygen fats water sugar starch
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GCSE Science Homework Pack 1 Homework 2 (continued)

4 Which organ of the human body:

a  protects the body and helps it to cool down or KEep Warm?..........cccceeevvveeiiieeeiieeesieeesiineens
D fIEErs the DIOOA? ... e
¢ pumps blood around the BOAY?.........ooiieiiie e
d collects oxygen gas from the air and passes it to the blood?..........ccccvveiiiiii i,
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g controls breathing and NeArt rate? .........cooeiiiiiiii e
h  Produces SPEIrM N MAIES? ........eeeiiie ettt e e e st e et e e et e e e reeeannaeeennneeennes

5 To which of the seven systems of the body, noted below, do the following belong?

Systems: Digestive, circulatory, nervous, excretory, respiratory, reproductive, locomotive.

R o [ U PO PUPPPTRTPPPROON
o = U] o PSRRI
(oS (0] 10 T o PP TRSUPRROPR
(o I [0 01 TSP U R PP PP OURPPR

L@ Y LT USSR USRS
T BIAAUET bbb
o TR T o PO P PP PPPRPPPP
T 1 ) X L= TP S OPRUPRTRTN
I BlOOO VESSIS ...ttt b e ae e nes
J 0] 01 PP PP PP PP PPPPPPPPPPP
S 1Y/ 1o [T USSR
[ DHAPNTAGM <.ttt b ettt b et

6 What is the difference between:

a  apopulation and a community?
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GCSE Science Homework Pack 1 Homework 24

Adaptations

1 Inan experiment to investigate the preferred environment of woodlice, a ‘choice chamber’ was
set up as shown below:

Petri dish

Lid

Layer of muslin
T on which
woodlice move

Black paper
on lid of dish Granules of silica gel
to absorb water

a In which quarter of the chamber would you expect to find the most woodlice after a few
hours? Explain your answer.

d How could the apparatus be modified to improve the reliability of the results? Draw a
diagram and explain your answer.
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GCSE Science Homework Pack 1 Homework 24 (continued)

2 Below is a diagram showing a section of rocky shore:
A

Prevailing
wind

| |

High water Low water
mark mark

a  The organisms inhabiting three regions of the shore — A, B and C - face different challenges
from the environment.

Suggest one problem and one advantage of living in regions A, B and C:

Problem Advantage

Region A

Region B

Region C

b In which region would you expect the following organisms to survive best?

i Lichens growing on the rocks.

c  Describe how the sea anemone is well adapted to:

i avoid being dried out
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